Roll No. ...ccuuurereervnnccannns Total Pages : 05

MDE/M-20 4685
BUSINESS STATISTICS
MC-206
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Every sub-part of Q. No. 1 is of 4 marks. All other
questions are of 14 marks each.
dy ikp i'uc d mlkj nife, A i'u B[k 1 Viuok;
g Ad'u I[;k 1 db 1R;d miHkx 4 vd di g A
w; iIR;d 1'u 14 vd dk g A

1. (i) How is the reliability of an estimate ensured ?

vidyu dh fo*olut;rk dl Huf*pr dh tirh g \

(i) Explain the utility of studying multiple correlation
and partial correlation.
cg lglc/ rRk wvif*td Iglc/ dh mi;kixrk di o.ku
dife, A

(ii1) What are the limitations of a time series forecasting ?
diy kM ioluelu dh lhek, D;k g \

(iv) Explain any two approaches to defining probability.
ifzdrk ok ifjfir dju d fy, fdigh nk mikxek
dk o.lu dift, A
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(v) Explain with examples multiplication law of
probability.
iif;drk dk x.kd fu;e mnigj.k Bfgr le>tb, A
(vi) Mention a business situation where Poisson
distributed is applicable.
0;kikj fLFfr;k dk o.u dift, gk loklk forj.k yikx
dju ;k; gk g A

2. The Personnel Manager of a large industrial unit is
interested in finding a measure that can be used to fix the
yearly wages of skilled workers. On an experimental
basis, he compiled data on the length of service and the
respective yearly wages (in Rs. ’000) of a group of ten
randomly selected workers. The data is as follows :

Length of service Yearly wages
(in years) (in Rs. ’000)
11 14
7 11
9 10
5 9
8 13
6 10
10 14
12 16
3 6
4 7

Obtain the regression equation of wages on length of
service.
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,d cMh vik]kixd bdib dk Tfooxh; ic/d ,d mik; [ltu
e #p j[krk g feldk mi;kx d'ty kedk dh ok'%d etnjh
dk fildl dju d fy, fd;k t& Idrk g A 1;ixiRed wielj
1j miglu ;infPNd <x I p;fur Ifedk d ,d leg dn lok
di vof/ wvij lcf/r ujftHkd etnjh (Cooo # e) dk
Idyu fd;k A vidM fuEu idkj g %

lok di vof/ ok'kd etnjh
(o' e) Cooo # e)
11 14
7 11
9 10
5 9
8 13
6 10
10 14
12 16
3
4

lok dh vof/ 1j etnjh di irhixeu lendj.k wklr dift, A

3. Explain the concept of multiple regression and discuss an
example in the practical field where multiple regression
analysis is likely to be helpful.
cgmnn®fh; irfixeu dh vo/ij.k dk o.u dift, wij
0;togfjd {i e ,d mnigj.k dk o.lu dift, gk cgmnn®i;
irhiixeu fo'y't.k Igk;d giu di IHkouk g A
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4.

What are the index numbers ? How are they constructed ?

Explain the role of weights in the construction of general

price index number.
Ipdid D;k g \ ; dl cur g \ Hiell; eY; lpdid
Cutu e Hkjk dh Hfedk dk o.lu dift, A

(a)

(b)

Net weekly income of an employee was Rs. 8,000
in 2010. The consumer price index number was
160 in 2010. It rose to 200 in 2018. Calculate the
additional D. A. (dearness allowance) to be paid to
the employee if he has to be rightly compensated.
2010 e ,d depijh dh "% Wrifgd vi; 8,000 #-
Fit A mitkOrk eY; lpdid lu 2010 e 160 Fik A
;0 Tu 2018 e c<dj 200 gk x;k A vfrfiDr egxib
MUK € depljt di fnzk tiut g) dh x.uk dift,]
;in mld ikl mfpr eviotk g A

“Index numbers are barometers of economic
activity.” Explain.

MIpdid ViERd @k lhyrk d cjlelv) g A* o.ku
dife, A

What is time series analysis ? What are its components ?

Explain various methods of measurement of seasonal

fluctuations.
diy ki fo'y.k D;k g \ bld Avd D;k g \ eflet
mrij&p<to ekiu dh fofHlu fof/;k dn 0;k[;k dift, A
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7. (a) Discuss the importance of probability in the present
era of uncertainty.
viuf'prrk d orelu ;x e ikf;dri d eglo dk o.ku
dift, A

(b) Explain Bayes’ theorem and bring out its importance

in probability theory.
ct dh ie; dk o.lu dift, rRk Ik;drk fl%r e
bldk eglo crib, A

8. What do you understand by Normal distribution ? How is
it useful in business decision-making ?
lkell; forj.k 1 wki D3k le>r g \ 0;kikj fu.k;u e ;g
dl mi;ixh g \
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